Installation Instructions

For Part Number: 350-993

6.1L Hood Scoop Option for Airaid intake systems:
350-193  350-199

351-193  351-199

352-193  352-199

353-193  353-199

2006-10 Dodge Charger SRT-8/Super Bee
2008 Dodge Magnum SRT-8

6.1L V8 With Hood Scoop
Component Identification
Hood Scoop Tube
8-32 x 3/8” Button Head Screw
#8 Flat Washer

Y4 - 20 Button Head Bolt
14> Flat Washer
L-Bracket

AN DN B~ WN -
—_— = ) W) =

ers (#3), leave loose. Install the L-bracket (#6) over the stud on the fender, and bolt it to the hood scoop using
the 1/4-20 button head bolt (#4), and 1/4” flat washer (#5). Replace the factory nut on the stud, adjust for fit,
and tighten all bolts, nuts, and screws.

Airaid Filter Co. 2688 E Rose Garden Ln. Phoenix AZ 85050 (800) 498-6951 AiraidInfo@airaid.com www.airaid.com



mailto:AirAidInfo@airaid.com

